Sub Binner()       '*************************************************

    ' This binner macro was written by Edward Nam (USEPA/OTAQ).

    ' revised: February, 2005.

    Dim i, n As Integer

    Dim mass, speed, accel, pi As Double

    Dim vsp, vspb, vspn0, vspn1, vspn11, vspn12, vspn13, vspn14, vspn15, vspn16 As Double

    Dim fr, frsum0, frsum1, frsum11, frsum12, frsum13, frsum14, frsum15, frsum16 As Double

    Dim vspn21, vspn22, vspn23, vspn24, vspn25, vspn26, vspn33, vspn35, vspn36  As Double

    Dim frsum21, frsum22, frsum23, frsum24, frsum25, frsum26, frsum33, frsum35, frsum36  As Double

    Dim myrange, myrangefc As Range

    maxPower = 60   'set initial value

    pi = 3.141593

    Application.ScreenUpdating = False

    Sheets("pere").Select

    'Get data for torque map

    Set myrange = Range("e4") 'Get speed  'SELECT RANGE*******************

    Range("e4").Select

    i = 0

    n = 3567    'bag1+bag2+HWY+LA92    '6979 'LD EPA cycles   '2639 'last row -4 seconds

    vspn0 = 0

    vspn1 = 0

    vspn11 = 0

    vspn12 = 0

    vspn13 = 0

    vspn14 = 0

    vspn15 = 0

    vspn16 = 0

    vspn21 = 0

    vspn22 = 0

    vspn23 = 0

    vspn24 = 0

    vspn25 = 0

    vspn26 = 0

    vspn33 = 0

    vspn35 = 0

    vspn36 = 0

    frsum0 = 0

    frsum1 = 0

    frsum11 = 0

    frsum12 = 0

    frsum13 = 0

    frsum14 = 0

    frsum15 = 0

    frsum16 = 0

    frsum21 = 0

    frsum22 = 0

    frsum23 = 0

    frsum24 = 0

    frsum25 = 0

    frsum26 = 0

    frsum33 = 0

    frsum35 = 0

    frsum36 = 0

    'The following Loop bins the fuel rate data

    Do While (i < n) '(Selection.Value <> "")'check for end of file

        speed = myrange.Offset(i, 0).Value

        accel = myrange.Offset(i, 1).Value         'current acceleration

        a1 = myrange.Offset(i - 1, 1).Value              'previous second accel

        a2 = myrange.Offset(i - 2, 1).Value      'accel from 2 seconds ago

        vsp = myrange.Offset(i, 6).Value

        fr = myrange.Offset(i, 21 + 12 + 12).Value '+ 12

        'rpm = myrange.Offset(i, 0).Value * 60

        'If (rpm < Nidle) Then rpm = Nidle   'we can ignore these low points for now

        'If rpm > 1000 Then maxtorq = findmaxtorq(rpm) 'Call interpolation fnctn, 1000 is min

        If (accel < -2 Or (accel < -1 And a1 < -1 And a2 < -1)) Then

            vspb = 0

            vspn0 = vspn0 + 1

            frsum0 = frsum0 + fr

        ElseIf speed < 1 Then

            vspb = 1

            vspn1 = vspn1 + 1

            frsum1 = frsum1 + fr

        ElseIf speed >= 1 And speed < 25 And vsp < 0 Then

            vspb = 11

            vspn11 = vspn11 + 1

            frsum11 = frsum11 + fr

        ElseIf speed >= 1 And speed < 25 And vsp >= 0 And vsp < 3 Then

            vspb = 12

            vspn12 = vspn12 + 1

            frsum12 = frsum12 + fr

        ElseIf speed >= 1 And speed < 25 And vsp >= 3 And vsp < 6 Then

            vspb = 13

            vspn13 = vspn13 + 1

            frsum13 = frsum13 + fr

        ElseIf speed >= 1 And speed < 25 And vsp < 9 Then

            vspb = 14

            vspn14 = vspn14 + 1

            frsum14 = frsum14 + fr

        ElseIf speed >= 1 And speed < 25 And vsp < 12 Then

            vspb = 15

            vspn15 = vspn15 + 1

            frsum15 = frsum15 + fr

        ElseIf speed >= 1 And speed < 25 And vsp >= 12 Then

            vspb = 16

            vspn16 = vspn16 + 1

            frsum16 = frsum16 + fr

        ElseIf speed >= 25 And speed < 50 And vsp < 0 Then

            vspb = 21

            vspn21 = vspn21 + 1

            frsum21 = frsum21 + fr

        ElseIf speed >= 25 And speed < 50 And vsp < 3 Then

            vspb = 22

            vspn22 = vspn22 + 1

            frsum22 = frsum22 + fr

        ElseIf speed >= 25 And speed < 50 And vsp < 6 Then

            vspb = 23

            vspn23 = vspn23 + 1

            frsum23 = frsum23 + fr

        ElseIf speed >= 25 And speed < 50 And vsp < 9 Then

            vspb = 24

            vspn24 = vspn24 + 1

            frsum24 = frsum24 + fr

        ElseIf speed >= 25 And speed < 50 And vsp < 12 Then

            vspb = 25

            vspn25 = vspn25 + 1

            frsum25 = frsum25 + fr

        ElseIf speed >= 25 And speed < 50 And vsp >= 12 Then

            vspb = 26

            vspn26 = vspn26 + 1

            frsum26 = frsum26 + fr

        ElseIf speed >= 50 And vsp < 6 Then

            vspb = 33

            vspn33 = vspn33 + 1

            frsum33 = frsum33 + fr

        ElseIf speed >= 50 And vsp < 12 Then

            vspb = 35

            vspn35 = vspn35 + 1

            frsum35 = frsum35 + fr

        ElseIf speed >= 50 And vsp >= 12 Then

            vspb = 36

            vspn36 = vspn36 + 1

            frsum36 = frsum36 + fr

        End If

        myrange.Offset(i, 13 + 31).Value = vspb

        i = i + 1

    Loop

    'Calculate average binned fuel rate

    frsum0 = frsum0 / vspn0

    frsum1 = frsum1 / vspn1

    frsum11 = frsum11 / vspn11

    frsum12 = frsum12 / vspn12

    frsum13 = frsum13 / vspn13

    frsum14 = frsum14 / vspn14

    frsum15 = frsum15 / vspn15

    frsum16 = frsum16 / vspn16

    frsum21 = frsum21 / vspn21

    frsum22 = frsum22 / vspn22

    frsum23 = frsum23 / vspn23

    frsum24 = frsum24 / vspn24

    frsum25 = frsum25 / vspn25

    frsum26 = frsum26 / vspn26

    frsum33 = frsum33 / vspn33

    frsum35 = frsum35 / vspn35

    frsum36 = frsum36 / vspn36

    Set myrange = Range("az2")

    Range("az2").Select    'send back up to the top

    myrange.Offset(0, 0).Value = frsum0

    myrange.Offset(1, 0).Value = frsum1

    myrange.Offset(2, 0).Value = frsum11

    myrange.Offset(3, 0).Value = frsum12

    myrange.Offset(4, 0).Value = frsum13

    myrange.Offset(5, 0).Value = frsum14

    myrange.Offset(6, 0).Value = frsum15

    myrange.Offset(7, 0).Value = frsum16

    myrange.Offset(8, 0).Value = frsum21

    myrange.Offset(9, 0).Value = frsum22

    myrange.Offset(10, 0).Value = frsum23

    myrange.Offset(11, 0).Value = frsum24

    myrange.Offset(12, 0).Value = frsum25

    myrange.Offset(13, 0).Value = frsum26

    myrange.Offset(14, 0).Value = frsum33

    myrange.Offset(15, 0).Value = frsum35

    myrange.Offset(16, 0).Value = frsum36

    Set myrange = Range("ba2")

    Range("ba2").Select

    myrange.Offset(0, 0).Value = vspn0

    myrange.Offset(1, 0).Value = vspn1

    myrange.Offset(2, 0).Value = vspn11

    myrange.Offset(3, 0).Value = vspn12

    myrange.Offset(4, 0).Value = vspn13

    myrange.Offset(5, 0).Value = vspn14

    myrange.Offset(6, 0).Value = vspn15

    myrange.Offset(7, 0).Value = vspn16

    myrange.Offset(8, 0).Value = vspn21

    myrange.Offset(9, 0).Value = vspn22

    myrange.Offset(10, 0).Value = vspn23

    myrange.Offset(11, 0).Value = vspn24

    myrange.Offset(12, 0).Value = vspn25

    myrange.Offset(13, 0).Value = vspn26

    myrange.Offset(14, 0).Value = vspn33

    myrange.Offset(15, 0).Value = vspn35

    myrange.Offset(16, 0).Value = vspn36

    Application.ScreenUpdating = True

    Sheets("gui").Select

End Sub                     '*************************************************
